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POTAIN MD 235 S

UDZWIG MAKSYMALNY 12 TON

127 15 17 20 223246 27 30 32 35 37 40 42 45 47 50 52 55 57 60 62 65 t
12.99 85 7 6 6 54 47 44 39 37 33 31 2852692472342162,06191182 17 m

153 17 20 22 25 269296 32 35 37 40 42 45 47 50 52 55 57 60 t
12106 87 78 66 6 6 55 49 46 42 4 36 34 32 3 28267 25 m

16 20 22 25 27 283312 35 37 40 42 45 47 50 52 55 t
12 93 82 7 64 6 6 52 49 45 42 39 37 34 32 3 m

168 20 22 25 27 297327 35 37 40 42 45 47 50 t
12 .98 87 75 68 6 6 55 52 47 45 41 39 36 m

174 20 22 25 27 30 308339 37 40 42 45 t
12 102 91 78 71 62 6 6 54 5 47 43 m

176 20 22 25 27 30 31,1342 37 40 t
12 103 92 79 72 63 6 6 55 5 m

176 20 22 25 27 30 31,1342 35 t
12 103 92 79 72 63 6 6 58 m

176 20 22 25 27 30 t
12 103 92 79 72 63 m

177 20 22 25 t
12 104 92 79 m

116,2m 173,2m
96,2m 138,2m

712 103,2m

84m
124m
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POTAIN MD 235 B HERKULES

UDZWIG MAKSYMALNY 12 TON

ch -PS

m/min t m/min t kW
hp
55 0=>34 6 0= 17 12 370m 55 405
RCS ’
30D 0=>68 3 0= 34 6 >370m*
70 0=40 6 0= 20 12 461
RCS 70 51
30D 0=»380 & 0= 40 6 >641*
6 D3 V4 10-40-80 6 4.4
0=>0,8
RCV 185 tr/min 2x9 2x6,6
rpm
RT 324 12,5-25 2X7 2x5,2
TCV 449 ARC
10-50 4x6,8 4x5
g H<35,1m
- RT 443 A1 2V 15-30 4x5 4x,37
N TCV 449 ARC
10 - 50 4x6,8 4x5
H<35,1m
— RT 443 A1 2V 15-30 4x5 4x,37
Cgl RT 544 A1 2V 13,5 - 27 4x7 4x,5,2
TCV 649 ARC
N 10-50 4x6,8 4x5
H<43,3m

370V-400V .50Hz
55 RCS : 80 KVA
70 RCS : 105 KVA
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